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QUESTION 1

Which statement describes the function of NAT?

A. NAT encrypts transit traffic in a tunnel.

B. NAT detects various attacks on traffic entering a security device.
C. NAT translates a public address to a private address.

D. NAT restricts or permits users individually or in a group.

Correct Answer: C

QUESTION 2

Which statement is true about high availability (HA) chassis clusters for the SRX Series device?
A. Cluster nodes require an upgrade to HA compliant Routing Engines.

B. Cluster nodes must be connected through a Layer 2 switch.

C. There can be active/passive or active/active clusters.

D. HA clusters must use NAT to prevent overlapping subnets between the nodes.

Correct Answer: C

QUESTION 3

Click the Exhibit button.
userfhost> show security ike =ecurity-associations

userifhost> show route 172.16.1.2

inet.0: B destinations, B8 routes (8 active, 0 heolddown, O hidden)

+ = Actiwve Route, — = Last Rectiwve, * = Both

172.16.1.0/24 *[8tatic/5] 00:04:21
> via =t0.0

userfhost> ping 172.16.1.2 source 172.16.1.1

PING 172.16.1.2 (172.16.1.2): 5& data bytes

64 bytes from 172.16.1.Z2: icmp =zegq=0 ttl=64 time=3.4ZF% ms
4 bytes from 172.16.1.2Z2: icmp:53q=l ttl=64 tim==1.367 m=
64 bytes from 172.16.1.2: icmp seq=2 ttl=64 time=1.511 ms
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You have an IPsec tunnel between two devices. You clear the IKE security associations, but traffic continues to flow
across the tunnel.

Referring to the exhibit, which statement is correct in this scenario?

A. The IPsec security association is independent from the IKE security association
B. The traffic is no longer encrypted

C. The IKE security association immediately reestablishes

D. The traffic is using an alternate path

Correct Answer: AB

QUESTION 4

In a chassis cluster, which two characteristics are true regarding reth interfaces? (Choose two.)
A. A reth interface inherits its failover properties from a redundancy group.

B. Reth interfaces must be the same type of interface.

C. Reth interfaces must be in the same slots on each node.

D. A reth interface goes down if one of its child interfaces become unavailable.

Correct Answer:. AB

QUESTION 5

What are three valid virtual interface types for a vSRX? (Choose three.)
A. SR-IOV

B. fxp0

C. eth0

D. VMXNET 3

E. virtio

Correct Answer: ABD
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